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Time:3 hrs.

Note: Answer any FIVE full

1 a. Explain the functions of
b. Explain the components
c. Illustrate the concept

protocol suite.

3

4

5

block of 10 addresses,
Design the subblocks.

c. Explain MPLS

communication.
and

188C71

(05 Marks)
the upper three layers of TCP/P

(05 Marks)
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netwotX.2 a. Explain topologies of a (10 Marks)

b. With a illustrate the of encapsulation and decapsulation in internet.
(10 Marks)

switched usmg (08 Marks)

organization
is granted a

to
blo

t$
sirbblocks of addresses to use in its three subnets, one sub-

addresses with beginning address 14.24.74.0124. Theb. An

of 60 addresses and one subblock of 120 addresses.
(06 Marks)
(06 Marks)

6 a. Illustrate IPv4

,, ,tt. ;i

datagram
OR

format. (10 Marks)

routing by using spanning tree. Also apply path-vector algorithm forb. Explain
-vectors. (10 Marks)

,S!\ulrlDv([ax.

network

ONE full

and

Marks: 100

each module.

(06 Marks)
a shared channel with a 200 kbps

together) produces.

(04 Marks)

",e
and flow d*@ffip (12 Marks)
also expffiwdRP operation with

.*q{$f

(08 Marks)
b.

b.

use

!d 
rrlllll'if'.i:

of CS{{A7CA's three strategies with
-,, (10 Marks)

c.A 200 bit
system (all

frames per
,':500 frames per
250 frames

;ss&

?{ l!*d{ms.W

v



7a.

c.

8a.
b

a.

9a.
b. Explain
c. Describe the

with
Transfer Phases.

and its Resolution.

(06 Marks)
(06 Marks)

(07 Marks)
(07 Marks)
(06 Marks)

a-

b.
c.

10

:li
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\u*&

w
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Module-4

b. Explain the concept of sliding window in

18EC71

(08 Marks)
formats with suitable figures.

(07 Marks)

(08 i\{arks)
using suitable

(07 Marks)
(05 Marks)

windows chosen.l,l,'t"" t".ll'ilt*;

Module-S
with suitable exafr{ple.

using

in Telnet diagram.local versus
components of
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'l-irne: 3 hrs.

t\ of tJ :,,1 t t srN e r rt t r 
-11

l\'Iodule- I
it. DistingLrislt betlvccn stcp irrdcr and graded index ilbcrs. (10 Nl:rrks)

[. A tl,pical rcltrttvc rell.active indcx dil'tcrence lor an optical fiber desigrtecl fbr long dlstance

transn-rissiou is 19i," Estintatc the numerical aperturc and solid acccptancc angle in air fbr the

tlbcr u,hen corc index rs 1.4(r. []Lrrther. calculatc thc trritical angle at the core'-cladding

inier'liice ri,ilhin the llber. it nra1, be assui-necl that the concepts o1'gcou-ietric optics hold tbl
the fiber'. (10 Nlarks)

2

.,

4

5

lof'2

18T871

Mtr.r" N4arks: 100

OR
a. \\rhat are thc aclvantagcs o{'optical l-iber cotntrlunicatiott? (10 N'larks)

b. Hxplaitr a cligrtal optical liber transnrission Iink Lrsing a scnticcrttductor lasi:r sortrce and an

avalattche pholodiocie c'lctccttlr (10 },larhs)

NIod_ule-Z
tlricllv explair-r about stintLrlalccl llalrall sclitlcritltl. (10 i\Iarks)

liiltca has arr cstiltatctl liietive lcllpcriiturc ot'12100'K u,ith an isolhermal compressibility of
7 x l0-1',-,-,tN' "T'he rcliactive indcr iincl the 1;holoelastrc coefllcient fbr silica are 1.4(r and

0.286 rcsllcctivr-ly' I)eterrrine thc theorctical atteuuation in decibels per kilometer due to the

lirnciarlcntaJ I{ayte igh scattcring in an silica at optical r,vavc lcngth of- 0.63 and 1.00'

IJolznran'sconstant is l.38lx l0rl.lKr. (10N'larks)

a

b

OR
it. Derivc an exprcssion fbr nraterial clispcrsion parameter M dtrc to dilI-crent group velocities'

(10 N'larks)

b. l\n 6knt optical link consisrs of nrultin'tocie step intle.x [iber witl"r a core Rl of 1.5 and a

relatrvc inclcx dit'l"et'cnce ol l%" Estirnate .

i) 'l'he clclal,dil'lcrence betrveen the slon'est and llstest t.nocles at the liber outplxt.

ii) .l-hc 
rms pulse broadcning due to intennodal clispcrsion on thc link.

iii) J-hc nta.riprult bit ratc that may be ol-:rtaincd u'ithout sr-rbstantial errors on thc llnk

itssunring ottlv ilrtcrrttrodal dislrel \i()tl
rv) ['Jandu,rdth-length prodttct corcspt'rncling to (iii). (10 N{arks)

]Iodule-J
a. L)c1r,,,c an crpres:iion tbr intcrnallv generatcd power ancl el'[lcicncy in an LED. (l0NIarks)

b. l'he r-acliatrvc ancl non racliatrve rccorririnatior lile tinres olthc nrinoritY carriers in the active

regi6n ol'a rl6ublc hctcro.jLrncticln L[rl) are 60ns and 100ns rcspcctlvcly Determine the total

carrier rt-.courbination lilb trmc ancl tlre pou,cr internallv generated within the device u'hen

thc peak cmission r,vavclcngth rs 0.87 ptm at a drive cltrrenl o1'40mA (10 Nlarks)



6 a. \\/rth a tleat sketch. cxP

b. Write a bricf nole on re

7 a. With a iuPlementatitln

l8TH,7l

(10 Marks)
(10 Marks)

principles of WDM
(10 Marks)

b

tl a.

l-r

9a.
b

10 ir

ir.

*:kr<*1.

:. ,,...

2 ol2

(10 klarks)
(10 Marks)

Modl[s-s
Explain thc: evolution i:loptical llber nctrvork'

Lrxplain the netr'vork topologies wrth ncat sketcl.res"

oR.

lrxplaitr the optical pLrtrlrc tcleconrmunications Itclu'ork hicrarchV n ith a tlcat skctch'
(10 NIarks)

DistingLrish between rrctropolitan and local arca rle6r'orlts. (10 Marks)
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100

(08 Marks)
(08 Marks)
(04 Marks)

(12 Marks)
and equations

(08 Marks)

#
scaling and why constant

(07 Marks)
two metal layers. (06 Marks)

(07 Marks)
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Time: 3 hrs

Note: 1. Answer any FIVEfull
2. Missing data may be

1 a. Derive an expression for
b. Draw the CMOS inverter
c. Implement a 2:1 MIIX

2 a. Explain the
modulation

the of nMOS

3a.

b.

c. gate computing Y = + +c)

nWell process

OR
IV effect of MOSFET with respect to CMOS channel length
degradation. (08 Marks)

(08 Marks)

(04 Marks)

in linear and
explain its D.c.

gate. ,W
W

Explain

Sketch

IV characteristics.

b. Mention different types MOSFET
also MOSFET

4 a. Define scaling. constant field
voltage

b. With neat

5

cut off, linear

scaling.
design rulRs

' l:l:: 
"

and calculate the delay
(06 Marks)

if the output is loaded
(08 Marks)

t,, ,,,,-]:,

x

\1

c. Explain gySE with an

,-#
Fig.Q.s(b)

I of2
example. (06 Marks)

Dec.2023/Jan.2024

c. Draw

necessary

preferred
explain thc

each module.
: 
"l 

l lirrl1l

questionrtom

3

,-l

h

.-,



CR
6 a. Explain: i) PseuCo-nMCS ii) Ganged CMOS with neces

b. If a unit transistor has R: l0K0 and e : 0.1ff in a
picoseconds, of the inverter Fig.Q.6(b) vzith a fan

patd-+l

Fig.Q.6(b)

effort of the

t8EC72

examples.
(06 Marks)

s, compute the delay, in
(06 Marks)

getes with the help of
(08 Marks)

(10 Marks)
(10 Marks)

c. Explain linear delay
schematic diagrams.

model

7

8

9

r) 3-input ii) 3 input

#oR
diagram explain the operatioa of three transistor DRAM cell.

i) Built in Self Test il) Scan Design.

*****

l0 a. With neat schernatic
,,,,, -r.r,,,,,.,.,,..1"" 

"

b. Write short notBson:

gata. (05 Marks)
(06 Marks)

stpply is set to a value of
0.55V. Find the cutput voltage V1u1ot

i) Vi" = 2.9Y ii) Vi. : 3.0V
(08 Marks)

(10 Marks)
(10 Marks)

b.
c. Consider the two in Fig.Q.

Voo = 3.3V and the threshold voltage is
the right side
iii) Vr" : l.4Y

b. Explain the different

chain for the
Vin:3.lV.

t'ri

J
vo,

+
V^,b

l
+
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loss models.
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(10 Marks)
(10 Marks)

(12 Marks)
(08 Marks)

(10 Marks)
(10 Mark$
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Seventh Semester B.E. Degree
Wireless Gom

Time: 3 hrs

Note: Answer any FIVE full

I a. Explain two ray model with diagram
b. Derive an expression for in free space

OR
design in path

cation

ax. Marks: 100

n, Dec.2023lJan.2024

each module,

2 a. Discuss practical
b. Explain three
c. Assume a

900

4a

(ir)
b is channel

a.

b.
Explain
Define c

suitable

6 a. Compare FDMA and
b. Discuss packet radio

TDMA in detail.
ALOHA protocol

a

b

bile radio communication
(05 Marks)
(05 Marks)

1S located 10 km 0 W transmitter. The carrier frequency is
propagation is The antenna gain at transmitter and receiver is

has 50O
(10 Marks)

(10 Marks)
(10 Marks)

Traffic ty (10 Marks)

ff strategies in mobile communication.
(10 Marks)

capacity techniques in cellular systems. (10 Marks)

cellular ve an expression for maximum radio capacity with
(10 NIarks)

gv?
,N

OR

7 a. With a neat diagram, explain
b. Write notes on: (i) RACH

Module-4
the global system for mobile communication.
(ii) FCCH (iii) SACCH (iv) FACCH

1 o{)

(i) call

The

il,s$$,

Request rate



8a.

b

9a

b

10 a,

b

t8TE72

but same MSC.
(10 Marks)
(10 Marks)

diagram.
(10 Marks)
(10 Marks)

IS-95 with the
(10 Marks)
(10 Marks)
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Seventh Semester B.E. Degree Exa
Satellite Gomm

D ec.2023 I J an.2024
ron

Max. Marks: 100Time: 3 hrs.

Note: Answer any FIYE full questions,

I a. State and explain all the three

b. The apogee and perigee
45000km and 7000km.
1)

ii)
Semi major
Orbit

iir) Distance

questio4:from each module.full

and
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i) ii)
b. Explain spin stabilization and axls

c. Explain the various orbital,€ffects
-,trf i. . .i"

for satellite

-'t 'ts'St"'il
r,t$;1Jlilttiirt,ilr,'

the different satellite orbits

#oR
explain the orbital

on satellites

OR

of earth
SS) Earth

(BS station.
explain sate system.

with typical block diagram.
of TDMA over FDMA?

and expressions.
(07 Marks)

elliptical orbit are respectively

of the elliptical orbit.
(06 Marks)
(07 Marks)

of perigee. (08 Marks)
altitude control.

(06 Marks)
(06 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

(08 Marks)

(06 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

with

c. With neat

2a.

b.

c.

5 a. Explain
b. What are

types of
li

,, ""
,,. \i|;;i;, 

. 
1r

..1
. .lllir,., i\r.,,u , , .

(TT&e) subsystem,

i,,,,,,,,,,,,"'.ii"" OR
6 a. Explain TDMA typical ftame structure.

b. Briefly explain important
link. '::':::::':: j.,

(10 Marks)
parameters that influence the design of a satellite communication

(10 Marks)

I of2
n .sr

,,"itii1rt,it,,,,,,,..,., 
::'""

the

3 a. Explain the

a.

b.

Bccentricity

driven power
subsystem

explain

the
Fixed Satellite
Broadcast
neat block
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es ryr: wlth
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Module-4
7 a. With neat diagram explain the two types of satellite

b. Explain the advantages and disadvantages of

OR
8 a. Explain the satellite cable television.

b. With neat block diagrarn, explain the

9 a. Explain the Optical Remote

b. Explain the operation segment of

10 a. With neat block
b. List and explain

r8EC732

(10 Marks)
to terrestrial networks.

(10 Marks)

of satellite
(10 Marks)

system.
(10 Marks)

communication
,,: ' :'

':l

a

Remote Sensing system.
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

{r !r f":r*

- Nld$$$q&
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fl .iNN.
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of weather
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syst€m in remote sensing.
foredasting satellite.
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Time: 3 hrs

Note: Answer any FIVE full q

I a. Draw the model of

uest*on
:i::,:+ii:':i;

,@'n

.@CVIax

{ "n$$li[

t8EC744

(08 Marks)
(08 Marks)
(04 Marks)

(08 Marks)
(06 NIarks)
(06 N{arks)

(06 NIarks)

(10 Mark$
(04 Marks)

Seventh Semester B.E. Degree
Grypt

to system and explain.

n, Dec.2023/Jan.2024

. Marts: 100

ONE full q
s
from ench module,
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b. Explain rules used for cipher and
keyword "ENCRYPT

,{1h (06 Marks)
text "TECHNOLOGY" with

(08 Marks)
(06 Marks)

the plain text "ATTACK" using the

(10 N'Iarks)

(04 Marks)
(06 Marks)

),

c. List the modular ari operation properties.

OR
and decrypt2 a. Using Hill technique encrypt

2k"y:

b Euc
c. Find GCD of (1970, 1

lidean algorithm with
066) using Euclidean

.dn,

,,$ili-:s
diagraffiloexp3 a. With a neat block

4a.
b

algorithmlain DES
b. Expiain with a neat diagram, AES
c. With neat block diagram, describe

R
used in AES

Columns T

ue.

diagram.
its structure.

techniquec

5

6 a. Define Euler's Totient Function. Determine the Euler's totient function of:
(i) 37 (ii) 35 (iii) 600 (iv) 32 (v) 2l (07 Marks)

b. For f(x)=x'+x'+xo+x3+x+1 and g(x)=x'+x+1, perfotm addition, subtraction,

multiplication and division over GF(2) (08 Nlarks)

c. Find the gcd of the given polynomials a(x)=xu+x'+xt+xt+x2+x+1 and

b(x) = xo + x'+x+l. (O5Nlarks)

m 1 of2

....Jr

[<ey expansion

diagram,

Module-3
Fields? Explain.are the and

and prove
c. Find

,{&'$
a:,*;+*Yhat

b. *State



7a

b

8a.

9

10

by Alice and Bob for
(i) Find Bob's public key if
(ii) If Alice has a private

b. Which are the possible five
c. Describe the RSA

to attack RSA thm?
decryption

(10 Marks)
(05 Marks)
(05 Marks)

(08 Marks)

(12 Marks)

(08 Marks)

(12 Marks)
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